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1;5.; TREOBBOEILHNORES TREQHBEEILADKRES TREOBBOEILADKRES TREQHBEEILADKRES
&S X 4 B | TS DER 73@7:?—;3 & 4 TWMASDKE| H& wafgé R 4 B2 | LIEHSOLSE ﬁmk?é X 4 rtimhoots | B ﬁa)jc?—;é
(m) (m) (kN/m) BB RfE(m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/mi)
1 100kN/mi%#8 2% 1.00/0.00 ~ 2.20 134.13|3mz#B 2% -~ - - —| 100kN/mM%E#B 2% 1.00]| 10.60 ~ 20.00 134.13|3mZEA 5 -~ - - -
Zzhlst 1.00]2.20 ~ 9.98 100.00] Z=hbLlst |0.00 ~ 9.98] 2.64 13.33 zhLst 1.00] 5.00 ~ 10.60 100.00] #hrist | 5.00 ~ 20.00| 2.64 13.33
2 100kN/mM%E#8 % % 1.00/0.00 ~ 3.33 153.51|3m%=#E 25| 0.00 ~ 0.40| 3.21 16.25| 100kN/m%#BZx 5% 1.00| 10.56 ~ 30.41 153.51|3mZi#BZ 5[ 25.00 ~ 30.41( 3.21 16.25
ZThilst 1.00/3.33 ~ 11.12 100.00| Zh st |0.40 ~ 11.12] 3.00 15.16 ThLst 1.00] 5.00 ~ 10.56 100.00] Zhuist | 5.00 ~ 25.00| 3.00 15.16
3 100kN/m%##B %% 1.00{0.00 ~ 3.04 148.44|3m#%#825|0.00 ~ 0.45| 3.27 16.53| 100kN/mM%#B% % 1.00| 10.98 ~ 26.15 148.44| 3m%i#BZ 5| 25.00 ~ 26.15| 3.27 16.53
Fh st 1.00] 3.04 ~ 10.83 100.00| #h st |0.45 ~ 10.83] 3.00 15.16 Fh st 1.00] 5.00 ~ 10.98 100.00] #hi4t | 5.00 ~ 25.00f 3.00 15.16
4 100kN/mM%#8 % % 1.00/0.00 ~ 3.09 149.33|3m##E25|0.00 ~ 0.62| 3.39 17.14] 100kN/mZE# % % 1.00] 11.60 ~ 28.51 149.33| 3m##8Z 5| 20.00 ~ 28.51| 3.39 17.14
zhilst 1.00] 3.09 ~ 10.88 100.00] Z=hLlst |0.62 ~ 10.88] 3.00 15.16 zhLst 1.00] 5.00 ~ 11.60 100.00] Zhuist | 5.00 ~ 20.00| 3.00 15.16
100kN/m%#8 % % ~ ImEEZ D ~ 100kN/ Mm% % ~ 3mEBAS ~
zhst ~ Zhs ~ zhst ~ This ~
100kN/mM##B% % ~ 3mEHEZD ~ 100kN/ Mm% 2% ~ 3ImEBZD ~
Zh LIS ~ zh st ~ zhst ~ Zh s ~
100kN/ Mm% 2% ~ ImEEZD ~ 100kN/ Mm% 2% ~ 3ImEBZD ~
Zh LSt ~ ZhLlsh ~ ZhLsh ~ Zh s ~
100kN/m%#8 % % ~ ImEEZ D ~ 100kN/m##8 % % ~ 3ImEHBR D ~
Zzhlst ~ Zzhs ~ zhst ~ Zhilst ~
100kN/mM%#BZ % ~ ImEEZD ~ 100kN/mM##BZ 5 ~ ImERBAD ~
Zh LSt ~ Zhst ~ zh s ~ Zzh st ~
100kN/mM%#B % % ~ ImERERD ~ 100kN/M%E#BZ % ~ ImEBZD ~
Zh LSt ~ Zh sk ~ ZhLLsh ~ Zh st ~
100kN/mi%##8 2% ~ ImxHEz5 ~ 100kN/m##82.% ~ 3ImEBZD ~
zhlst ~ ZhLs ~ st ~ zhilst ~
100kN/m% 2% ~ ImEH 2D ~ 100kN/ M#%#8 % % ~ ImEHBZD ~
Zh s ~ Zhst ~ zh st ~ Zh st ~
100kN/ Mm% 2% ~ ImEHE2 5 ~ 100kN/ Mm% % ~ 3mEBRD ~
ZH LIS ~ Zh st ~ zh s ~ Zzh st ~
100kN/mi%#8 2% ~ ImEEZRD ~ 100kN/ Mm% 2% ~ ImEBZD ~
Zh LSt ~ Zh st ~ ZhLs ~ Zh st ~
100kN/m%##82.% ~ 3ImEH 2D ~ 100kN/ Mm% % % ~ ImEHBRD ~
zhilst ~ Zhs ~ ThLst ~ Thils ~
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